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QUESTION 1

You want to create the user named jenny for any host server with the password secretpassi23! and the password is
expired? Which command should you use? 

A. CREATE USER \\'jenny\\'@\\'%\\' IDENTIFIED WITH sha256_password BY `SecretPass123!\\'; 

B. CREATE USER ,jenny,0,%t IDENTIFIED BY \\'SecretPass123!\\' PASSWORD EXPIRE; 

C. CREATE USER \\'jenny\\'@\\'%\\' WITH HASHED(password,\\'SecretPass123!\\'), PASSWORD EXPIRE 

D. CREATE USER \\'jenny *@\\'localhost\\' IDENTIFIED WITH HASH PASSWORD(\\'SecretPass123!\\') 

E. CREATE USER \\'jenny\\'@\\'localhost\\' IDENTIFIED BY (\\'SecretPass123!\\',\\'256\\', Expired) 

Correct Answer: E 

 

QUESTION 2

Which query will find rows in a table that have no counterpart in another table? 

A. SELECT *FROM table1 INNER JOIN table2 ON table1.id=table2.id WHERE table1.id=! table2.id; 

B. SELECT left_tbl.*FROM left_tbl LEFT JOIN right_tbl ON left_tbl.id=right_tbl.idWHERE right_tbl.id IS NULL; 

C. SELECT t1.name, t2.name2FROM employee AS t1 INNER JOIN info AS t2 ON t1.name= t2.name2; 

D. SELECT t1.name, t2.name2FROM employee t1 INNER JOIN info t2 WHERE t1.name=t2.name; 

Correct Answer: B 

 

QUESTION 3

Which three statements are true about MySQL Enterprise Backup? 

A. It performs hot or warm backups. 

B. It provides the ability to create incremental backups. 

C. It cannot back up encrypted tablespaces. 

D. It enables you to take non-locking backups. 

E. It performs logical backups. 

Correct Answer: BDE 

 

QUESTION 4
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The slave connects to the master and asks for updated records. What command was issued for this to happen? 

A. SLAVE RUN 

B. SLAVE START 

C. START RUN SLAVE 

D. RUN SLAVE 

E. START SLAVE 

Correct Answer: B 

 

QUESTION 5

Which three installation options are available for installing the MySQL Enterprise Monitor/Agent on Linux? 

A. A GUI for installing MySQL Enterprise Monitor, Agent, and a MySQL Repository database 

B. A CLI-based wizard MySQL Enterprise Monitor, Agent, and a MySQL Repository database 

C. A script (with an option file) for installing MySQL Enterprise Monitor, Agent, and a MySQL Repository database 

D. A MySQL Enterprise Monitor to remotely deploy the MySQL Monitor Agent 

E. A browser-based wizard to remotely deploy the MySQL Monitor Agent 

Correct Answer: ABC 
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